H-lesson 13

\ /This time just the shaded part represents the whole.
| have to think about how | can partition just the
shaded part into halves since the unit fraction in

Both triangles make up the whole.
Since there are 2 equal parts, that

means that the fractionat unit is

1
R | art {a} s —. Since halves means 2 equal parts, | can
halves and the unit fraction is > 1 can part {a) 2 quaip

1 draw a dotted line to partition the shaded whole
write —- to represent the shaded part. into 2 equal parts.
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| candrawa
dotted line to
help me
compare the
lengths of Ropes
Rope B S LLTLILTTL LT ELETIL SIS | Aand B. |t looks
i ! like Rope B is

1
about; the
Rope C AP FFFFirsy i . ‘ o length of Rope A.

Half of 10 feet is
5 feet.

. S/

a. If Rope A measures 10 feet long, then Rope Bisabout __ 5  feet long.
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b. About how many copies of Rope C equal the length of Rope A? Draw a number bond to help you.

| can draw another dotted line
to help me compare the lengths
of Ropes C and A. That shows

1
me that Rope Cis about; the

length of Rope A.
N /

The whole in my number bond, 1, represents the length of Rope A,
The 4 parts are the number of copies of Rope C it would take to

equal the length of Rope A.

Abhout 4 copies of Rope C equai the length of Rope A,
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